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T=α

([γ], γ) → [γ]
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(β, int) → α

Function: append
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Var: p1
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T=[γ]

([γ], γ) → [γ]
=

(β, int) → [γ]

Function: append

T=([γ],γ)→[γ]

Var: p1

T = β

Var: p2

T = int
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Ersetzung der Typvariablen
α 7→ [γ]



CallExpr E

T=[γ]

([γ], γ) → [γ]
=

([γ], int) → [γ]

Function: append

T=([γ],γ)→[γ]

Var: p1

T = [γ]

Var: p2

T = int

Semantische
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für
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Ersetzung der Typvariablen
α 7→ [γ]
β 7→ [γ]



CallExpr E

T=[int]

([int], int) → [int]
=

([int], int) → [int]

Function: append

T=([int],int)→[int]

Var: p1

T = [int]

Var: p2

T = int

Semantische
Regel
für

CallExpr

Ersetzung der Typvariablen
α 7→ [γ]
β 7→ [γ]
γ 7→ int


